

Generalized Mittag-Leffler Function and Its Properties

Banu Yılmaz Yaşar

Eastern Mediterranean University, Faculty of Arts and Sciences, Gazimagusa, K.K.T.C. Mersin 10 Turkey

Received: 28 November 2014, Revised: 2 December 2014, Accepted: 17 December 2014

Published online: 18 December 2014

Abstract: Recently, Srivastava, Çetinkaya and Kıymaz [18] defined the generalized Pochhammer symbol and obtained some relations. In this paper, we define the generalized Mittag-Leffler function via the generalized Pochhammer symbol and present some recurrence relation, derivative properties, integral representation. Moreover, we obtain a relation between wright hypergeometric function and the generalized Mittag-Leffler function.

Keywords: Pochhammer symbol, generalized Mittag-Leffler function, Wright Hypergeometric function.

1 Introduction

Mittag-Leffler function plays an important role in the solution of fractional order differential equations [13]. Applications of Mittag-Leffler function are given follows: fluid flow, electric networks, probability, statistical distribution theory. Moreover, different kinds and properties of Mittag-Leffler functions were introduced and obtained in [4].

The well known Mittag-Leffler function was defined by Mittag-Leffler in [7], [8], [9]:

$$E_{\alpha}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\alpha k + 1)}. \quad (1)$$

Then, Wiman, Agarwal and Humbert [1], [5], [15], [16] generalized the Mittag-Leffler function by

$$E_{\alpha,\beta}(z) = \sum_{k=0}^{\infty} \frac{1}{\Gamma(\alpha k + \beta)} \frac{z^k}{k!}. \quad (2)$$

Afterward, it was Prabhakar [12] who defined the generalization of the Mittag-Leffler function by

$$E_{\alpha,\beta}^{\delta}(z) = \sum_{k=0}^{\infty} \frac{(\delta)_k}{\Gamma(\alpha k + \beta)} \frac{z^k}{k!} \quad (3)$$

where $\alpha, \beta, \delta \in \mathbb{C}$ with $Re(\alpha) > 0$. Recently, Özarslan and Yılmaz Yaşar [17] defined the extended Mittag-Leffler function by

$$E_{\alpha,\beta}^{(\gamma;c)}(z;p) := \sum_{k=0}^{\infty} \frac{B_p(\gamma+k, c-\gamma)}{B(\gamma, c-\gamma)} \frac{(c)_k}{\Gamma(\alpha k + \beta)} \frac{z^k}{k!}, \quad (p \geq 0; Re(c) > Re(\gamma) > 0) \quad (4)$$

* Corresponding author e-mail: banuyilmazgm@gmail.com

where $B_p(x, y)$

$$B_p(x, y) = \int_0^1 t^{x-1} (1-t)^{y-1} e^{-\frac{p}{t(1-t)}} dt, \quad (\operatorname{Re}(p) > 0, \operatorname{Re}(x) > 0, \operatorname{Re}(y) > 0)$$

is the extended Beta function defined in [2], [3]. They obtained some properties of the extended Mittag-Leffler function. Moreover, Özarslan and Özergin [10], [11] defined the extended Riemann-Liouville fractional derivative operator and obtained some generating relations for the extended hypergeometric function. On the other hand, Kurulay and Bayram [6] obtained some properties of the generalized Mittag-Leffler function.

In this paper, we define the generalized Mittag-Leffler function by

$$E_{\beta, \gamma}^{(\lambda, \rho)}(z) := \sum_{k=0}^{\infty} \frac{(\lambda; \rho)_k}{\Gamma(\lambda) \Gamma(\beta k + \gamma)} \frac{z^k}{k!}, \quad \operatorname{Re}(\beta) > 0, \operatorname{Re}(\lambda) > 0 \quad (5)$$

where

$$(\lambda; \rho)_k = \frac{1}{\Gamma(\lambda)} \int_0^{\infty} t^{\lambda+k-1} e^{-t-\frac{\rho}{t}} dt \quad (\operatorname{Re}(\rho) > 0, \operatorname{Re}(\lambda+k) > 0 \text{ when } \rho = 0) \quad (6)$$

is the generalized Pochhammer symbol defined in [18].

We organize the paper as follows: In section 2, we give some properties of the generalized Mittag-Leffler function. Furthermore, we give the Mellin transform of the generalized Mittag-Leffler function via the Wright hypergeometric function [14]. In section 3, we obtain some recurrence formula and derivatives of the generalized Mittag-Leffler function.

2 Some Properties of the Generalized Mittag-Leffler Function

In this section, we give integral representation and Mellin transform of the generalized Mittag-Leffler function.

Theorem 1. For the generalized Mittag-Leffler function, we have the following integral representation formula

$$E_{\beta, \gamma}^{(\lambda, \rho)}(z) = \frac{1}{[\Gamma(\lambda)]^2} \int_0^{\infty} t^{\lambda-1} e^{-t-\frac{\rho}{t}} E_{\beta, \gamma}(tz) dt \quad (7)$$

where $\operatorname{Re}(\lambda) > 0$, $\operatorname{Re}(\beta) > 0$, $\operatorname{Re}(\gamma) > 0$.

Proof. Using (6) in (5), we have

$$E_{\beta, \gamma}^{(\lambda, \rho)}(z) = \sum_{n=0}^{\infty} \left(\frac{1}{\Gamma(\lambda)} \int_0^{\infty} t^{\lambda+n-1} e^{-t-\frac{\rho}{t}} dt \right) \frac{1}{\Gamma(\lambda) \Gamma(\beta n + \gamma)} \frac{z^n}{n!}.$$

Interchanging the order of summation and integral, which is satisfied under the conditions of the theorem and using (2), we have

$$\begin{aligned}
 E_{\beta,\gamma}^{(\lambda,\rho)}(z) &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^\infty t^{\lambda-1} e^{-t-\frac{\rho}{t}} \sum_{n=0}^\infty \frac{(tz)^n}{\Gamma(\beta n + \gamma)n!} dt \\
 &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^\infty t^{\lambda-1} e^{-t-\frac{\rho}{t}} E_{\beta,\gamma}(tz) dt.
 \end{aligned}$$

Corollary 1. Taking $t = \frac{u}{1-u}$ in Theorem 1, we have

$$E_{\beta,\gamma}^{(\lambda,\rho)}(z) = \frac{1}{[\Gamma(\lambda)]^2} \int_0^1 u^{\lambda-1} (1-u)^{-\lambda-1} e^{-\frac{u^2-\rho(1-u)^2}{u(1-u)}} E_{\beta,\gamma}\left(\frac{u}{1-u}z\right) du.$$

In the following theorem, we obtain the Mellin transform of the generalized Mittag-Leffler function by means of Wright generalized hypergeometric function. Here, we choose to consider the Wright generalized hypergeometric function:

$$\begin{aligned}
 {}_p\Psi_q(z) &= {}_p\Psi_q\left[\begin{matrix} (a_1, A_1), (a_2, A_2), \dots, (a_p, A_p) \\ (b_1, B_1), (b_2, B_2), \dots, (b_p, B_p) \end{matrix} ; z \right] \\
 &= \sum_{k=0}^\infty \frac{\prod_{j=1}^p \Gamma(a_j + A_j k) z^k}{\prod_{j=1}^q \Gamma(b_j + B_j k) k!},
 \end{aligned} \tag{8}$$

where the coefficients $A_i (i = 1, \dots, p)$ and $B_j (j = 1, \dots, q)$ are positive real numbers such that

$$1 + \sum_{j=1}^q B_j - \sum_{i=1}^p A_i \geq 0.$$

Theorem 2. Mellin transform of the generalized Mittag-Leffler function is given by

$$\mu\{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} = \frac{\Gamma(s)}{[\Gamma(\lambda)]^2} {}_1\Psi_1\left[\begin{matrix} (\lambda + s, 1) \\ (\beta, \alpha) \end{matrix} ; z \right] \tag{9}$$

$$(Re(\lambda) > 0, Re(\gamma) > 0, Re(\beta) > 0, Re(\alpha) > 0, Re(s) > 0)$$

where ${}_1\Psi_1$ is the Wright generalized hypergeometric function.

Proof. Mellin transform is given by

$$\mu\{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} = \int_0^\infty p^{s-1} E_{\beta,\gamma}^{(\lambda,\rho)}(z) dp. \tag{10}$$

Putting (7) into (10), we have

$$\begin{aligned}\mu\{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} &= \int_0^{\infty} p^{s-1} E_{\beta,\gamma}^{(\lambda,\rho)}(z) dp \\ &= \int_0^{\infty} p^{s-1} \frac{1}{[\Gamma(\lambda)]^2} \left(\int_0^{\infty} t^{\lambda-1} e^{-t-\frac{p}{t}} E_{\beta,\gamma}(tz) dt \right) dp \\ &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^{\infty} p^{s-1} \left(\int_0^{\infty} t^{\lambda-1} e^{-t-\frac{p}{t}} E_{\beta,\gamma}(tz) dt \right) dp \\ &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^{\infty} t^{\lambda-1} E_{\beta,\gamma}(tz) \int_0^{\infty} p^{s-1} e^{-t-\frac{p}{t}} dp dt.\end{aligned}$$

Taking $u = \frac{p}{t}$, and using the gamma function $\Gamma(s) = \int_0^{\infty} u^{s-1} e^{-u} du$, we have

$$\begin{aligned}\mu\{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^{\infty} t^{\lambda-1} E_{\beta,\gamma}(tz) \int_0^{\infty} (ut)^{s-1} e^{-t-u} t du dt \\ &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^{\infty} t^{\lambda+s-1} E_{\beta,\gamma}(tz) e^{-t} \left(\int_0^{\infty} u^{s-1} e^{-u} du \right) dt \\ &= \frac{\Gamma(s)}{[\Gamma(\lambda)]^2} \int_0^{\infty} t^{\lambda+s-1} e^{-t} E_{\beta,\gamma}(tz) dt.\end{aligned}$$

Now, using the series form of Mittag-Leffler function $E_{\beta,\gamma}(tz)$, we have

$$\mu\{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} = \frac{\Gamma(s)}{[\Gamma(\lambda)]^2} \int_0^{\infty} t^{\lambda+s-1} e^{-t} \left(\sum_{k=0}^{\infty} \frac{t^k z^k}{\Gamma(\alpha k + \beta) k!} \right) dt.$$

Interchanging the order of summation and integral, under the conditions, $Re(s) > 0$, $Re(\lambda) > 0$, $Re(\alpha) > 0$, $Re(\beta) > 0$, we get

$$\mu\{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} = \frac{\Gamma(s)}{[\Gamma(\lambda)]^2} \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\alpha k + \beta) k!} \int_0^{\infty} t^{\lambda+s+k-1} e^{-t} dt.$$

Using Gamma function, we have

$$\mu\{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} = \frac{\Gamma(s)}{[\Gamma(\lambda)]^2} \sum_{k=0}^{\infty} \frac{z^k \Gamma(\lambda + s + k)}{\Gamma(\alpha k + \beta) k!}.$$

Taking into consideration of Wright generalized hypergeometric function (8), we have

$$\mu\{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} = \frac{\Gamma(s)}{[\Gamma(\lambda)]^2} {}_1\Psi_1\left[\begin{matrix} (\lambda + s, 1) \\ (\beta, \alpha) \end{matrix}; z\right].$$

Corollary 2. Taking $s = 1$ in theorem , we get

$$\int_0^\infty E_{\beta,\gamma}^{(\lambda,\rho)}(z) d\rho = \frac{1}{[\Gamma(\lambda)]^2} {}_1\Psi_1\left[\begin{matrix} (\lambda + 1, 1) \\ (\beta, \alpha) \end{matrix}; z\right].$$

3 Recurrence Relation and Derivative Properties of Generalized Mittag-Leffler Function

In this section, we obtain derivatives of generalized Mittag-Leffler function and give the recurrence formula.

Theorem 3. For the generalized Mittag-Leffler function, we have

$$\frac{d^n}{dz^n} \{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} = \frac{[\Gamma(\lambda + n)]^2}{[\Gamma(\lambda)]^2} E_{\beta,n\beta+\gamma}^{(\lambda+n,\rho)}(z). \tag{11}$$

Proof. Considering integral representation of Mittag-Leffler function, we have

$$E_{\beta,\gamma}^{(\lambda,\rho)}(z) = \frac{1}{[\Gamma(\lambda)]^2} \int_0^\infty t^{\lambda-1} e^{-t-\frac{t^\rho}{\rho}} E_{\beta,\gamma}(tz) dt.$$

Writing $E_{\beta,\gamma}(tz)$ in above integral, we have

$$E_{\beta,\gamma}^{(\lambda,\rho)}(z) = \frac{1}{[\Gamma(\lambda)]^2} \int_0^\infty t^{\lambda-1} e^{-t-\frac{t^\rho}{\rho}} \left(\sum_{k=0}^\infty \frac{t^k z^k}{\Gamma(\beta k + \gamma) k!} \right) dt.$$

Taking derivative with respect to z , in the integral representation, we get

$$\begin{aligned} \frac{d}{dz} \{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^\infty t^{\lambda-1} e^{-t-\frac{t^\rho}{\rho}} \left(\sum_{k=1}^\infty \frac{t^k z^{k-1}}{\Gamma(\beta k + \gamma) (k-1)!} \right) dt \\ &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^\infty t^\lambda e^{-t-\frac{t^\rho}{\rho}} \left(\sum_{k=0}^\infty \frac{t^k z^k}{\Gamma(\beta k + \beta + \gamma) k!} \right) dt \\ &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^\infty t^{(\lambda+1)-1} e^{-t-\frac{t^\rho}{\rho}} E_{\beta,\beta+\gamma}(tz) dt \\ &= \frac{1}{[\Gamma(\lambda)]^2} [\Gamma(\lambda + 1)]^2 E_{\beta,\beta+\gamma}^{(\lambda+1,\rho)}(z) \\ &= \frac{[\Gamma(\lambda + 1)]^2}{[\Gamma(\lambda)]^2} E_{\beta,\beta+\gamma}^{(\lambda+1,\rho)}(z). \end{aligned} \tag{12}$$

Taking derivative with respect to z , in (12), we get

$$\begin{aligned}
 \frac{d^2}{dz^2} \{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} &= \frac{[\Gamma(\lambda+1)]^2}{[\Gamma(\lambda)]^2} \frac{d}{dz} \{E_{\beta,\beta+\gamma}^{(\lambda+1,\rho)}(z)\} \\
 &= \frac{[\Gamma(\lambda+1)]^2}{[\Gamma(\lambda)]^2} \frac{d}{dz} \left[\frac{1}{[\Gamma(\lambda+1)]^2} \int_0^\infty t^{(\lambda+1)-1} e^{-t-\frac{\rho}{t}} E_{\beta,\beta+\gamma}(tz) dt \right] \\
 &= \frac{d}{dz} \left[\frac{1}{[\Gamma(\lambda)]^2} \int_0^\infty t^{(\lambda+1)-1} e^{-t-\frac{\rho}{t}} \sum_{k=0}^\infty \frac{t^k z^k}{\Gamma(\beta k + \beta + \gamma) k!} dt \right] \\
 &= \frac{1}{[\Gamma(\lambda)]^2} \left[\int_0^\infty t^{(\lambda+1)-1} e^{-t-\frac{\rho}{t}} \left(\sum_{k=1}^\infty \frac{t^k z^{k-1}}{\Gamma(\beta k + \beta + \gamma) (k-1)!} \right) dt \right] \\
 &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^\infty t^{(\lambda+1)-1} e^{-t-\frac{\rho}{t}} \left(\sum_{k=0}^\infty \frac{t^{k+1} z^k}{\Gamma(\beta k + 2\beta + \gamma) k!} \right) dt \\
 &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^\infty t^{\lambda+1} e^{-t-\frac{\rho}{t}} \left(\sum_{k=0}^\infty \frac{t^k z^k}{\Gamma(\beta k + 2\beta + \gamma) k!} \right) dt \\
 &= \frac{1}{[\Gamma(\lambda)]^2} \int_0^\infty t^{\lambda+1} e^{-t-\frac{\rho}{t}} E_{\beta,2\beta+\gamma}(tz) dt \\
 &= \frac{1}{[\Gamma(\lambda)]^2} [\Gamma(\lambda+2)]^2 E_{\beta,2\beta+\gamma}^{(\lambda+2,\rho)}(z) \\
 &= \frac{[\Gamma(\lambda+2)]^2}{[\Gamma(\lambda)]^2} E_{\beta,2\beta+\gamma}^{(\lambda+2,\rho)}(z).
 \end{aligned}$$

Similar way, we can find

$$\frac{d^3}{dz^3} \{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} = \frac{[\Gamma(\lambda+3)]^2}{[\Gamma(\lambda)]^2} E_{\beta,3\beta+\gamma}^{(\lambda+3,\rho)}(z).$$

Continuing this procedure, we get

$$\frac{d^n}{dz^n} \{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} = \frac{[\Gamma(\lambda+n)]^2}{[\Gamma(\lambda)]^2} E_{\beta,n\beta+\gamma}^{(\lambda+n,\rho)}(z).$$

Theorem 4. For the generalized Mittag-Leffler function, the following differentiation formula hold

$$\frac{d^n}{dz^n} \{z^{\gamma-1} E_{\beta,\gamma}^{(\lambda,\rho)}(cz^\beta)\} = z^{\gamma-n-1} E_{\beta,\gamma-n}^{(\lambda,\rho)}(cz^\beta). \quad (13)$$

Proof. Taking cz^β in place of z , and multiplying with $z^{\gamma-1}$ in (11), we get the result.

Theorem 5. For $E_{\beta,\gamma}^{(\lambda,\rho)}(z)$, we have

$$\frac{d^n}{d\rho^n} \{E_{\beta,\gamma}^{(\lambda,\rho)}(z)\} = \frac{(-1)^n}{(\lambda-1)^2(\lambda-2)^2 \dots (\lambda-n)^2} E_{\beta,\gamma}^{(\lambda-n,\rho)}(z). \quad (14)$$

Proof. Using the integral representation of the generalized Mittag-Leffler function and taking derivative with respect to ρ , n -times, we get the result.

Theorem 6. (Recurrence Relation) The following recurrence formula holds for generalized Mittag-Leffler function

$$E_{\beta, \gamma-1}^{(\lambda, \rho)}(z^\beta) = \frac{z^{1-\gamma}}{2} \frac{d}{dz} \{z^\gamma E_{\beta, \gamma+1}^{(\lambda, \rho)}(z^\beta)\} - \frac{\lambda^2}{2} \frac{d}{d\rho} \{E_{\beta, \gamma-1}^{(\lambda+1, \rho)}(z^\beta)\}. \quad (15)$$

Proof. Taking into consideration of the definition of the generalized Mittag-Leffler function and the derivative properties, we get the result.

References

- [1] Agarwal, R. P: A propos d' une note de M. Pierre Humbert, Comptes Rendus de l' Academie des Sciences, vol. 236, pp. 203-2032, 1953.
- [2] Chaudhry M.A, Srivastava H.M, Paris R.B : Extended hypergeometric and confluent hypergeometric functions, Applied Mathematics and Computation, 159 (2004) 589-602.
- [3] Chaudhry M.A, Zubair, S.M: On a Class of Incomplete Gamma Functions with Applications.
- [4] Haubold H. J., Mathai A. M., and Saxena R. K: Mittag-Leffler Functions and Their Applications, Journal of Applied Mathematics, Vol 2011, 51 pages.
- [5] Humbert P. and Agarwal, R. P : Sur la fonction de Mittag-Leffler et quelques unes de ses generalizations, Bulletin of Science and Mathematics Series II, vol. 77, pp.180-185, 1953.
- [6] Kurulay M, Bayram M: Some properties of the Mittag-Leffler functions and their relation with the Wright function, Advance Difference Equations 2012, 2012:178.
- [7] Mittag-Leffler, G. M: Une generalisation de l' integrale de Laplace-Abel, Comptes Rendus de l' Academie des Sciences Serie II, vol. 137, pp. 537-539, 1903.
- [8] Mittag-Leffler, G. M: Sur la nouvelle fonction $E_\alpha(x)$, Comptes Rendus de l' Academie des Sciences, vol. 137, pp. 554-558, 1903.
- [9] Mittag-Leffler, G. M, Mittag-Leffler, Sur la representation analytique d'une fonction monogene (cinquieme note), Acta Mathematica, vol. 29, no. 1, pp. 101-181, 1905.
- [10] Özarslan M.A : Some Remarks on Extended Hypergeometric, Extended Cofluent Hypergeometric and Extended Appell's Functions, Journal of Computational Analysis and Applications, Vol. 14, NO:6, 1148-1153, 2012.
- [11] Özarslan M.A, Özergin E: Some generating relations for extended hypergeometric functions via generalized fractional derivative operator, Mathematical and Computer Modelling, 52 (2010) 1825-1833.
- [12] Prabhakar T. R. : A singular integral equation with a generalized Mittag-Leffler function in the kernel, Yokohama Math. J. 19 (1971), pp. 7-15.
- [13] Samko, S. G, Kilbas, A. A. and Marichev, O. I: Fractional Integrals and Derivatives: Theory and Applications, Gordon and Breach, New York, NY, USA, 1993.
- [14] Srivastava H.M, Manocha, H. L: A Treatise on Generating Functions.
- [15] Wiman, A :Über den fundamentalsatz in der theorie der funktionen $E_\alpha(x)$, Acta Math., Vol. 29, p.p. 191-201, 1905.
- [16] Wiman, A: Über die Nullstellun der Funktionen $E_\alpha(x)$, Acta Mathematica, vol. 29, pp. 217-234, 1905.
- [17] Özarslan, M. A, Yılmaz Yaşar, B: The Extended Mittag-Leffler's Function and Its Properties, Journal of Inequalities and Applications, 2013.
- [18] Srivastava, H.M, Çetinkaya, A, Kıymaz, O: A certain generalized Pochhammer symbol and its applications to hypergeometric functions, Applied Mathematics and Computation, 226 (2014) 484-491.